G Lemipharma  ANALISIS AEROBIOLOGICO
2021

Huesca
Fecha 28/06/2021| 29/06/2021| 30/06/2021| 01/07/2021( 02/07/2021] 03/07/2021| 04/07/2021
Acer 0 0 0 0 0 0 0
Alnus 0 0 0 0 0 0 0
Artemisia 0 0 0 0 0 0 0
Betulaceae 0 0 0 0 0 0 0
Cannabaceae 0 0 0 0 0 0 0
Castanea 0 0 0 0 0 0 0
Casuarina 0 0 0 0 0 0 0
Cedrus 0 0 0 0 0 0 0
Compositae 0 0 0 0 0 0 0
Corylus 0 0 0 0 0 0 0
Cupresaceae 0 0 0 0 0 0 0
Cyperaceae 0 0 0 0 0 0 0
Chenopodiaceae 2 0 0 0 3 3 4
Ericaceae 0 0 0 0 0 0 0
Fraxinus 0 0 0 0 0 0 0
Helianthus 0 0 0 0 0 0 0
Lentiscos 0 0 0 0 0 0 0
Ligustrum 0 0 0 0 0 0 0
Mercurialis 0 0 0 0 0 0 0
Moraceae 0 0 0 0 0 0 0
Myrtaceae 0 0 0 0 0 0 0
Olea 0 0 0 0 0 0 0
Palmae 0 0 0 0 0 0 0
Pinus 3 1 3 2 0 7 0
Plantago 11 0 4 0 0 0 0
Platanaceae 0 0 0 0 0 0 0
Poaceae 6 0 0 0 0 0 0
Populus 0 0 0 0 0 0 0
Quercus 0 1 0 0 0 0 0
Rumex 0 0 0 0 0 0 0
Salix 0 0 0 0 0 0 0
Ulmus 0 0 0 0 0 0 0
Urticaceae 0 0 0 0 0 0 0
U.membranac 0 0 0 0 0 0 0
Indeterminado 0 0 0 0 0 0 0
Alternaria sp. 27 2 0 1 7 9 12
Total 49 4 7 3 10 19 16
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